BIG GAME POLY ROD STORAGE CART

Thank you for purchasing a quality Taco Marine product. As a family-owned business since 1959, Taco Marine
takes pride in offering the highest quality products with excellent customer service. We stand 100% behind
our products. Please visit our website, TacoMarine.com, for more detailed information on a wide variety of

Sport Fishing products.

Top Ring

Side

Spreader

HTwist into place
between slant boards

Casters

White Cover Cap

Cover Base

=)

1. Attach bottom ring to side panels using 1-1/4” screws, caps & cover base.

2. Insert slant boards into the lower pockets of the side panels. Using the 1-3/4” screws, caps
and cover bases insert screws through feet, side panel into slant. Do not over tighten!

3. Install the top ring with the 1-1/4” screws, caps and cover bases.

4. Install casters on feet with screws facing outward.

Spreaders are used to evenly maintain the heavy load of rods and
Note:

drops of glue at every joint to increase rigidity.

INSTRUC-R10-POLY-RACKS

reels.

OO
%% Tech Support: 800-653-8567  info@tacometals.com * TacoMarine.com

Contents:

5. Install spreaders between slants by pushing spreader between slants and twisting 90°.

When assembling and before screwing, make sure parts are flush with mating parts then apply a few

2- side panels
1- top ring

2- slant boards
2- spreaders

2- feet

4- casters

12- cap cover
12- cover bases
8- 1-1/4” screws

4-1-3/4” screws
for slant boards

4- blk caster screws




